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20y HHE 74 14 88 ( 43 45 ) 36.0
36z A 74 24 98 (b1 47 ) 39.0
A IUHE AR 75 10 86 ( 41 44 ) 36.0
bfr BRI #IE 75 21 96 (47 49 ) 365
646 EFfE T 75 12 87 ( 43 44 ) 370
. EBI§ EOF 75 27 102 ( 53 49 ) 395
86 ZHH @ 76 14 90 ( 45 45 ) 380
9z Tl E£=F 76 12 88 ( 45 43 ) 390
1062 7 Bt 76 5 81 ( 42 39 ) 395
20 UEED £% 80 5 86 ( 44 41 ) 415
306z Rk BBk 83 11 94 (49 45 ) 435
406 S B& 87 12 99 (52 47 ) 460
BBE f{k{A & 92 18 110 ( 55 55 ) 46.0
BGE #H B 81 ( 42 39 )
Par 72 J—XL—k RO—TL—h
BH(E) 6,606 vyard 71.3 128
BH(B) 6,237  yard 69.5 123
B(#) 5892  yard 68.1 119
BHE(%) 5281  vyard 64.9 114
(%) 5281  yard 70.1 123
4 (FR) 4,878  vyard 67.8 119
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